Floor Mat Rack -
Roun

VA2567-MAT-R

© AVW Equipment Company, Inc. www.avwequipment.com

This document is confidential and proprietary to AVW EQUIPMENT and cannot be used, disclosed, or duplicated without
prior written consent. Consent, prices and availability are subject to change without notice.




Floor Mat Rack - Round - VA2567-MAT-R

The AVW's Floor Mat Rack is made of stainless steel
and is used to wash the vehicle floor mats by holding
the same at an angle with a mat holding bracket

SCALE 1:10

20of5

© AVW Equipment Company, Inc. www.avwequipment.com
105 S 9th Ave, Maywood, IL 60153 General Inquiries: info@avwequipment.com

Phone: 708.343.7738 | Fax: 708.343.9065 Technical Support: info@avwequipment.com




Floor Mat Rack - Round - VA2567-MAT-R

SPACE REQUIREMENTS

91/2“

N

|

39%"

481" 30%"

0000000000000
0000000000000
0000000000000
0000000000000
0000000000000
0000000000000
0000000000000
0000000000000

N
o
IS
a

, 19%" 20"

SCALE 2:25

SCALE 1:10

3of5

© AVW Equipment Company, Inc. www.avwequipment.com
105 S 9th Ave, Maywood, IL 60153 General Inquiries: info@avwequipment.com

Phone: 708.343.7738 | Fax: 708.343.9065 Technical Support: info@avwequipment.com




VA2567-MAT-RB

HHCS1213125

TRF3352A

HHCS3816100
VA2567-MAT-RC

© AVW Equipment Company, Inc.
105 S 9th Ave, Maywood, IL 60153

SCALE 1:10

Phone: 708.343.7738 | Fax: 708.343.9065

VA2567-MAT-RA

VA3352TRFC

UB - RD050X56250X7750X300@

DETAIL D
DETAIL C
Parts List

PART NUMBER QTY DESCRIPTION
VA2567-MAT-RA 1 Plate weld Assy_Round
VA3352TRFC 1 Floor Mat Holding Bracket
TRF3352A 1 Floor Mat Holder
VA2567-MAT-RB 1 Round Pool support
VA2567-MAT-RC 1 Lower Bracket Weld Assy
HN1213 6 1/2-13 Hex Nut
HHCS1213125 2 1/2" - 13 x 1.25" UNC Hex Screw
FW12 6 1/2" Flat Washer
HHCS3816100 2 3/8" - 16 x 1" UNC HEX SCREW
HHN3816 2 3/8"-16 18-8ss Heavy Hex Nut
FW38 2 3/8" FLAT WASHER
UB - RD050X56250X7250X1750 1 Round U Bolt D 1/2" x5 5/8" x 7 1/4" LG
UB - RD050X56250X7750X3000 1 Round U Bolt D 1/2" x 5 5/8" x 7 3/4" LG

4 of 5

www.avwequipment.com

General Inquiries: info@avwequipment.com

Technical Support: info@avwequipment.com



Floor Mat Rack - Round - VA2567-MAT-R

EXPLODED VIEW

50f5

© AVW Equipment Company, Inc. www.avwequipment.com
105 S 9th Ave, Maywood, IL 60153 General Inquiries: info@avwequipment.com

Phone: 708.343.7738 | Fax: 708.343.9065 Technical Support: techsupport@avwequipment.com




